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TABLES ATTACHED
NAME: __________________________________

INSTRUCTIONS

Part 1.
Multiple Choice Questions:  Circle the best answer for each question.

Part 2.
Problems:  Answer questions in space provided.  Show and label all calculations to obtain maximum marks.

Part 3.
Case:  Remember to discuss GAAP for each issue.  Recommendations must be in keeping with GAAP.

Remarking:  Only tests written in ink and returned before leaving the class in which they are returned will be considered for remarking.  Items on which white-out is used will not be remarked.

MARKS:


Part 1.  ________ / 10
Part II.  Qn. 1. ________ / 20

Part II.  Qn. 2.  ________ / 20
Part 3. ________ / 10
TOTAL:  ________ / 60
NAME:   __________________________________

STUDENT NUMBER:  _______________________

PART 1.  Choose the best answer for each of the following independent questions.  (10 marks)
1.
Which of the following are major factors in the rapidly changing financial reporting environment in Canada?



a.
increased demand for accountants and the impact of technology.



b.
globalization and the use of computer networks.

c.
the growing number of institutional investors and the knowledge based economy.



d.
all of these.



e.
none of the above.
2.

Information is neutral if it



a.
provides benefits which are at least equal to the costs of its preparation.



b.
can be compared with similar information about an enterprise at other points in time.



c.
would have no impact on a decision maker.



d.
cannot be selected to favour one set of stakeholders over another.

e.  none of the above

3.

The economic entity assumption



a.
is inapplicable to unincorporated businesses.



b.
recognizes the legal aspects of business organizations.



c.
requires periodic income measurement.



d.
is applicable to all forms of business organizations.



e.   none of the above.

4.

The assumption that a business enterprise will not be sold or liquidated in the near future is known as the



a.
economic entity assumption.



b.
monetary unit assumption.



c.
conservatism assumption.



d.
none of these.



e.
none of the above.

5.

Proponents of historical cost ordinarily maintain that in comparison with all other valuation alternatives for general purpose financial reporting, statements prepared using historical costs are more



a.
reliable.



b.
relevant.



c.
indicative of the entity's purchasing power.



d.
conservative.

e.
none of the above.

6.

Bank overdrafts, if material, should



a.
be reported as a deduction from the current asset section.



b.
be reported as a deduction from cash.



c.
be netted against cash and a net cash amount reported.



d.
be reported as a current liability.



e.
none of the above.

7.

The accounts receivable turnover ratio is calculated by dividing



a.
gross sales by ending net receivables.



b.
gross sales by average net receivables.



c.
net sales by ending net receivables.



d.
net sales by average net receivables.



e.
None of the above

8.

Income taxes are allocated to



a.
correction of errors reported in prior periods.



b.
entries resulting from a change in an accounting policy.



c.
extraordinary items.



d.
all of the above



e. 
none of the above

9.

Before year-end adjusting entries, Bass Company's account balances at December 31, 2002, for accounts receivable and the related allowance for doubtful accounts were $500,000 and $45,000, respectively. An aging of accounts receivable indicated that $62,500 of the December 31 receivables are expected to be uncollectible.  The net realizable value of accounts receivable after adjustment is



a.
$482,500.



b.
$437,500.



c.
$392,500.



d.
$455,000.



e.
None of the above.

10.

In preparing its bank reconciliation for the month of April 2002, Gregg, Inc. has available the following information.



Balance per bank statement, 4/30/02
$35,140



NSF cheque returned with 4/30/02 bank statement
450



Deposits in transit, 4/30/02
4,000



Outstanding cheques, 4/30/02
5,200



Bank service charges for April
20


What should be the correct balance of cash at April 30, 2002?



a.
$34,370



b.
$33,940



c.
$33,490



d.
$33,470



e.
None of the above.

PART 2.
Problems  (40 Marks)
Problem 1.  (20 marks)
Fagan, Ltd. has prepared the following comparative balance sheets for 2001 and 2002:



    2002

2001



Cash
$  99,000
$  51,000


Receivables
53,000
39,000


Inventory
50,000
60,000


Prepaid expenses
6,000
9,000


Plant assets
420,000
350,000


Accumulated amortization
(150,000)
(125,000)


Goodwill
    51,000
    58,000


$529,000
$442,000

Accounts payable
$  51,000
$  56,000


Accrued liabilities
20,000
14,000


Mortgage payable
—
150,000


Preferred shares
215,000
—


Common shares
200,000
200,000


Retained earnings
    43,000
    22,000



$529,000
$442,000
1.
The Accumulated Amortization account has been credited only for the amortization expense for the period.

2.
The Retained Earnings account has been charged for dividends of $46,000 and credited for the net income for the year.


The income statement for 2002 is as follows:



Sales
$660,000



Cost of sales
  363,000



Gross profit
297,000



Operating expenses
  230,000


Net income
$  67,000
Required
From the information above, prepare a statement of cash flows (indirect method) for Fagan, Ltd. for the year ended December 31, 2002.


Fagan, Ltd.

Statement of Cash Flows

For the Year Ended December 31, 2002

Increase (Decrease) in Cash

Cash flows from operating activities


Net income                                              

$  67,000


Adjustments to reconcile net income to



net cash provided by operating activities:




Amortization expense
$  25,000




Goodwill amortization
7,000




Increase in receivables
(14,000)




Decrease in inventory
10,000




Decrease in prepaid expenses
3,000




Decrease in accounts payable
(5,000)




Increase in accrued liabilities
      6,000
    32,000
Net cash provided by operating activities

99,000

Cash used in investing activities


Purchase of plant assets

(70,000)

Cash flows from financing activities


Payment of cash dividend
(46,000)


Retirement of mortgage payable
(150,000)


Sale of preferred shares
   215,000
Net cash provided by financing activities

    19,000
Net increase in cash

48,000

Cash, January 1, 2002

    51,000
Cash, December 31, 2002

$  99,000
PART 2.  Question 2.  (20 marks)
On December 31, 2002, Hall Company finished consultation services and accepted in exchange a promissory note with a face value of $300,000, a due date of December 31, 2005, and a stated rate of five percent, with interest receivable at the end of each year. The fair value of the services is not readily determinable and the note is not readily marketable. Under the circumstances, the note is considered to have an appropriate imputed rate of interest of ten percent.

Instructions

(a)
Determine the present value of the note.

(b)
Prepare a Schedule of Note Discount Amortization for Hall Company under the effective interest method.  (Round to whole dollars.)

(c) Prepare the journal entries to record all transactions relating to the note.

(a)
Present value of interest
=
$15,000 × 2.48685
=
$  37,303

Present value of maturity value
=
$300,000 × .75132
=
  225,396






$262,699
(b)
Hall Company

Schedule of Note Discount Amortization

Effective Interest Method

5% Note Discounted at 10% (Imputed)



  Cash
 Effective

Unamortized        Present



 Interest
  Interest
 Discount
Discount               Value

    Date    
   (5%)    
   (10%)

Amortized
 Balance
of  Note



12/31/02






$37,301

$262,699


12/31/03
$15,000
$26,270
$11,270
26,031
273,969


12/31/04
15,000
27,397
12,397
13,634
286,366


12/31/05
  15,000
  28,634*
  13,634
0
300,000



$45,000
$82,301
$37,301
*$3 adjustment to compensate for rounding.

 Dec. 31/02
Note receivable


  300,000



Discount on note



  37,301




Consultation fees



262,699

Dec. 31/03
Cash




    15,000



Discount on note


    11,270




Interest revenue



  26,270

Dec. 31/04
Cash




    15,000



Discount on note


    12,397




Interest revenue



  27,397

Dec. 31/05
Cash




  315,000



Discount on note


    13,634




Note receivable



300,000




Interest revenue



  28,634

PART 3.  Case  (10 marks)
The weather was beautiful so you and a friend decided to meet at a local sidewalk café for dinner.  You arrived a little early, and while you were waiting, you overheard the following conversation.
Gent:
“I’m afraid we won’t meet the earnings estimate this year.”
Lady:
“Well don’t just accept this.  There are lots of things we can look into.

“Just so you know, I have put some thought into this over the past week or so and I do have a few ideas.  For example, we have to look at our Allowance for Doubtful Accounts account to see if we can reduce the amount.  We do have to be careful.  The auditors won’t accept anything that is too unreasonable.”
Gent:
“Good idea.  How about warranty expense.  Could we reduce this account?  I know we had some production problems during the last few months, but, hey, it may not make any difference to warranty claims.”

Lady:

“Anything else you can think of?”

Gent:

“Yes.  What about the law suit?  How was that handled?
Lady:
“Well, we had to accrue a very large amount.  The lawyers feel we won’t win, and they were able to estimate the amount we will have to pay.”
Gent:
“That would make a huge difference to our profit for the year.  I think we have to ignore the lawyers advice.  If we don’t accrue the amount, we will be well on the way to meeting earnings estimates.

“We’ll roll our sleeves up on Monday.  We still have a week before the audit begins.”

Much to your surprise, a week Monday when you arrived at the new client’s office to discuss the year-end audit, you were greeted by Gent and Lady.

Required:
Analyze the case.  Overview, and Issues:  remember to discuss GAAP concerning each issue.  Your recommendation must be in accordance with GAAP, and in line with your financial reporting objective.

A Solution
Overview
Company

Public (concern about earnings estimate, being audited)

They had production problems during the last few months which seems to have caused them to accrue extra warranty expense/liability

Industry – no information

Users


Creditors (C)




Management (A)




Shareholders (C)




Other reasonable

Role


Auditor

Constraints

GAAP (public, being audited)

FRO


A/C

Issue #1

Valuation of Receivables (ADA/BDE)


GAAP

Assets are carried as HC or future benefit whichever is lower




NRV of A/R should be estimated future cash flow.


Alternatives
Do not change adjustment




Reduce bad debts expense and the allowance account

Recommendation
If Aggressive, reduce, but stay reasonable




If Conservative, do not reduce

Issue #2

Valuation of Warranty Liability

GAAP
Liabilities are valued at HC or required future outlay whichever is greater 


Warranty liability should reflect management’s best estimate of future cost of warranty work, etc., on current and previous year’s sales.

Alternatives
Do not change adjustment


Reduce warranty expense and warranty liability

Recommendation
If Aggressive, reduce but stay reasonable




If conservative, do not reduce

Issue #3

Contingent Liability


GAAP

If could lose, and amount is reasonably estimable, accure

If could lose, and amount is not reasonably estimable, note  disclose

If highly unlikely to lose, not disclosure is not required

Alternatives
Do not change accrual.



Change accrual.



Reverse accrual. (not GAAP in this situation)

Recommendation
Lawyers believe the company will lose and they have provided an estimate of the amount of the loss.  If Aggressive, the best you could do is fight to have the amount reduced.  If Conservative, you would leave the accrual as is.
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